dnBB’

Installation Instruction

Performance Inlet hose

® Toyota Yaris GR

G16E-GTS turbo I3

BTCLIN —880d -d4d9dINNN LdVd



daBB'

Description

This instruction shows how to replace the OEM inlet hose with

do88 performance inlet hose.
At this type of installation we always recommend that you have

mechanical experience and knowledge about safety during work

on vehicles.

Parts list

— 1pc do88 Performance inlet hose
— 1pc 80 —-100 mm hose clamp

— 1pc50—-70 mm hose clamp

— 2pcs M8x20mm countersunk screws
— 1pc Aluminium joiner

— 1pc o-ring
— 1pc aluminum crank case joiner

— 1pc aluminum vacuum joiner
— 1pc OEM ear clamp 15.7 mm
— 1pc OEM ear clamp 31.6 mm

PART NUMBER
do88-kit218



doB88

Step 1

Raise the front off the car and remove the

right side wheel.
Remove 2x plastic clips with a small
flathead screwdriver and 3x 10mm hex.

Step 2

Remove 5x 10mm Hex screws and 2x

plastic clips with a small flathead
screwdriver.

P.3

.\,I L “-_“ ’,-1 7“-“ Ty ‘“ - "‘l"“““'ﬁ”mflw‘lnp \IF 7

A wiBl B

Step 3

Remove 4x 10mm hex screws.

Remove 5x 10mm hex screws and 6x plastic clips
and remove the plastic cover.

Remove 4x 10mm hex for steel plate.

PART NUMBER
do88-kit218



doB88

Step 4

Remove the plastic cover inside the right side wheel housing, 2x plastic clips.

P.

Step 5

Loosen the hose clamp 1x 10mm hex.

Remove the screw and nut holding the OEM plastic turbo inlet tube, Hex 12mm.
Remove the pin screw from the turbo use a E8 Torx socket or 2x M8 nuts
tightened towards each other.

PART NUMBER
do88-kit218



doB88

Step 6

Disconnect the crank case hose and vacuum hose

from inlet pipe.

Step /

Remove 1x 10mm hex screw holding the plastic
pipe.

P.5

Step 3

Remove 2x 10mm hex hose clamps to loosen the
hose.

PART NUMBER
do88-kit218



doB88

Step 9

Remove 2x 10mm hex hose clamps.

Remove 1x 12mm hex screw holding the plastic pipe.
Loosen the brake vacuum hose and vacuum hose connection.
Remove the hose from the car.

P.

Step 10

At the rear side of the engine remove 1x 12mm hex screw holding the plastic
pipe. Remove the entire turbo inlet pipe assembly from car.

PART NUMBER
do88-kit218



doB88

PR ) e

de ;

™,

»y
o4

y

Step 11

Install the included aluminium joiner with the
included o-ring and 2x m8x20 countersunk screws.

Step 12

Fasten the included alumnium pipes in the silicone
hose and secure with the included ear clamps.

Install the do88 inlet hose and use the included
hose clamps.

P.7

Step 13

Re-install all other parts back in reversed order.

PART NUMBER
do88-kit218



daBB'

Thank you for purchasing another do88 product.

Please check our website frequently for new product releases.
If you have any questions or concerns about this product please do not

hesitate to contact us: do88.se/contact



	Bildnummer 1
	Bildnummer 2
	Bildnummer 3
	Bildnummer 4
	Bildnummer 5
	Bildnummer 6
	Bildnummer 7
	Bildnummer 8

